Autosegmentalism in Chaha

Afro-Asiatic, Ethiopia, 130,00 speakers; Data from McCarthy 1983, Petros Banksira 2000.

Instructions

e Develop an autosegmental analysis in OT of the following three morphemes of Chaha and
how they’re realized: propose underlying forms for each affix and account for whether and

where they are realized

e You can assume that consonant features and vowel features are on different tiers.
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* [naedef] might look like FVlCV(Ii, where, e.g., & abbreviates [+low, +front...].

nd f

= This will seem weird for labial and palatal secondary articulations on consonants (C%, C)),
which are typically treated as adding the vowel-ish features [+round] and [+hi] (or [+front],
or both): how can you add features from one tier to the other tier? For purposes of this
assignment, pretend that features come in vowel and consonant versions, so labialization

actually involves adding [+roundc], and palatalization [+hic].

e Additional pointers can be found below.

3" person singular masculine object affix
he Ved he Ved him

denag denag® ‘hit’
nedef nedef™ ‘sting’
Kenef k’aenef” ‘knock down’
naekaeb nakab® “find’
nekaes nek“as ‘bite’
kaefet kef“aet ‘open’
baekaer bak“ar ‘lack’
Kaet’er kVet’ar kill’
beaenar bYenar ‘demolish’
masar m“aesaer ‘seem’
&res xres ‘build’
saedaed sedad ‘chase’

n&et’&r n&t’®r ‘separate’

Assume that the ‘he Ved’ form is the

same as the underlying form of the verb

root. That is, past tense and 3"-person-

singular-masculine subject don’t add

any affixes.

= (The above can’t really be true,
because the vowels seem to
constitute a morpheme; but we’ll
ignore that.)

Assume the difference between C and

CV is that CV is [+roundc].




Feminine subject (imperative) affix

V! (masc. subject) V! (fem. subject)

nomeed namaedf ‘love’ = Assume that the ‘V!” form is the same as the
nak’st’ nok’ot™ ‘kick’ underlying form of the verb root. Imperative
nokos HQkQSJA ‘bite’ and masculine-subject don’t add any affixes.
gorez goraez . ‘be old’ = (Again, this is not totally true, as you can
wot’ak’ wat’aek™ “fall’ see from the vowels.)

foreex forex’ ‘be patient’ » Assume the difference between C and C is
boner boner ‘demolish’ that CJ is [+hic].

k’ot’aer K’ot’eer ‘kall’ * Assume a constraint *{r/, b/}, arbitrary as it
nokab nokab “find’ seems.

bokar bokor ‘lack’

soneb soneb ‘spin’

A wrinkle to account for

V! (masc. subject)

V! (fem. subject)

gakiet gakiaet ‘accompany’
sageer sager ‘change’
tof“er tof“eer ‘scratch & mark’
gokier gokier ‘straighten out’
he Ved he Ved him
maekier mvVekler ‘burn’
Saefer saefer ‘cover’
Impersonal affix
he Ved imper, sqnal 4 = Again, assume that the ‘he Ved’ form is
keefeet kaefwaﬁj, ‘OPen’ the same as the underlying form of the
naekaes naek%e§ ‘bite’ verb root.
t’&bas teb%es “fry’
demad dem“ed ‘join’
tezrabat’®  tezrab“et” ‘have hope for’
banar b“ener ‘demolish’
k’aet’er k’ Vet er kill’
saegar saegver ‘change’
nxkeab nekeaeb” “find’
senxb senab™ ‘spin’
taefer taefMer ‘scratch & mark’
gakier gakier ‘straighten out’
bataex bataex™ ‘dig out’
axVenek’ ax“enzk™ ‘take off the clothes’
denzg denzeg® ‘hit’




Another wrinkle to account for

V! (masc. subject)
batot

V! (fem. subject)
beetiot

fetot fetot
nozaz noz' &z’
nok’ok’ nok ok
edad edaod’

2595 &s'os’

sokok sokiok’

he Ved he Ved him

akeaek akVeaek"™ ‘scratch’
he Ved impersonal V
saekak saek“aek™
gemaem gem“aem"
moreqeq moraeqeq”
boregaeg boreg“aeg®
k’ak’a k’Vak’Va
goradad groreded
k’omameer kK’om“am“er
teegmamat’ teegm™em™“ et
tata tata

at’at’a atat”a
demad dem“ed

‘be wide’

‘be partial’

‘dream’

‘take apart’

‘cut peas/lentils’
‘sweep’

‘plant in the ground’

‘plant in the ground’
‘chip the rim’
‘scratch in a straight line’
‘be startled’

‘tie tightly’

‘cut in big pieces’
‘cheat’

‘rinse’

‘twist a rope’

‘rinse’

join’



